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16. PORS is a rectangle. The area of triangle QRT is Slﬂf the area Q R
of PORS, and the area of triangle TSU is L of the area of
PORS. What fraction of the area of rectangle PORS is the area

of triangle QT U?
27 21 1 19 23

A — B — C - D — E — P s
40 40 2 40 60 U
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E LetQR = xand RS = y in the rectangle PORS. Hence the area of PORS is xv.

The area of triangle QRT is 1RT x x = Lxy,hence RT = %y. Thus TS = RS — RT = %y.
The area of triangle TSU is $SU x #v = fry, hence SU = fu.
Therefore the area of triangle PUQ is + x Fxy = v
Hence, as a fraction of the area of rectangle PORS, the area of triangle OTU is
wi-t-4-% 2
xy T 60"




